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QUESTION 1

Given:

class Book {

intid;

String name;

public Book (int id, String name) {
this.id = id;

this.name = name;

}

public boolean equals (Object obj) { //line n1
boolean output = false;

Book b = (Book) obj;

if (this.name.equals(b name))}
output = true;

}

return output;

}

}

and the code fragment:

Book bl = new Book (101, "Java Programing");

Book b2 = new Book (102, "Java Programing");

System.out.println (b1.equals(b2)); //line n2

Which statement is true?

A. The program prints true.

B. The program prints false.

C. A compilation error occurs. To ensure successful compilation, replace line n1 with: boolean equals (Book obj) {

D. A compilation error occurs. To ensure successful compilation, replace line n2 with: System.out.printin
(b1.equals((Object) b2));
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Correct Answer: A

QUESTION 2

Given the code fragment:

/f Login time:2015-01-12721:58:18.8172
Instant loginTime = Instant.now();
Thread.sleep (1000) ;

!/ Logout time:;2015-01-12T21:58:1%9.8802
Instant logoutTime = Instant.nowl();

loginTime = loginTime.truncatedTo (ChronoUnit.MINUTES) ; ff line nil
logoutTime = logoutTime.truncatedTo (ChronoUnit.MINUTES) :

if (logoutTime.isAfter {(loginTima) )
System.out.printin("Logged out at:"+logoutTime) ;

zls=
System.out.println("Can't logout®):;

What is the result?

A. A compilation error occurs at line nl.

B. Logged out at: 2015-01-12T721:58:19.880Z
C. Can\\'t logout

D. Logged out at: 2015-01-12T21:58:00Z

Correct Answer: D

QUESTION 3

Given:

public class Counter {

public static void main (String[ ] args) {
inta = 10;

intb =-1;

assert (b >=1) : "Invalid Denominator";

int=al/b;
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System.out.println (c);

}
}

What is the result of running the code with the ?a option?
A.-10

B.0

C. An AssertionError is thrown.

D. A compilation error occurs.

Correct Answer: A

QUESTION 4

Given:

class UserException extends Exception { }

class AgeOutOfLimitException extends UserException { }
and the code fragment:

class App {

public void doRegister(String name, int age)
throws UserException, AgeOutOfLimitException {
if (name.length () 60) {

throw new AgeOutOfLimitException ();

}else {

System.out.printin("User is registered.");

}

}

public static void main(String[ ] args) throws UserException {
App t = new App ();

A. doRegister("Mathew", 60); } } What is the result?

B. User is registered.

C. An AgeOutOfLimitException is thrown.
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D. A UserException is thrown.
E. A compilation error occurs in the main method.

Correct Answer: C

QUESTION 5

Given the code fragments:

public static Optiocnal<String> getCountry(String loc) {
Optional<String> couName = Optional.empty():
if ("Paris".equals(loc))
couName = Optional.of("France"):
else if ("Mumbai".equals(loc))
couName = Optional.of ("India");
return couName;

and

Optional<String> cityl = getCountry("Paris™):;
Optional<String> city2 = getCountry("Las Vegas"):
System.out.println(cityl.orElse ("Not Found")):;
if (ecity2.isPresent())

city2.ifPresent (x -> System.out.println(x)):
else

System.out.println(city2.orElse ("Not Found")}):;

What is the result?

A. France Optional[NotFound]

B. Optional [France] Optional [NotFound]
C. Optional[France] Not Found

D. France Not Found

Correct Answer: D
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